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(Es c*I-l;r * fiTdt fr sqr fsS 'rS froiRo *I q{ 3{q-{ 3r-isci6 fufuSt)

Nole : - Answers may be written either itEnglish or in Hindi; but the same medium should

be used throughout the paper..

ftrqufr :-{s erI-c-t sl Efl eiffi qr fdfl ffi qfi qsr t qifqq; qt{ €rfi r{it
6'r cl?,rq qo a d-tr qrRgr

Answer any fve questions.

lil questions carry equal marks.

ffi fr csii * Td{ frfi{tr

TS erfr * eim qqsq 6,

l. (a) Define national, income. Does increase in national income always lead to an increase in

economic welfare of society ? 8

{rqtq 3TH q1 qftr+rqr {tqqr wr {qq B{q i qk Ai t 6i{r R-qM * elrfet*,

*-srq i Ef6 +fr t ?
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(b) GverL

NDP at market price = Rs. 25000 crores

Depreciation : Rs. 500 crores

Net factor income from abroad = Rs. 1000 crores

Net indirect taxes = Rs. 300 crores

Find out :

(l) NNP at factor cost

(r, NDP at factor cost

(ilr) GNP at factor cost

(lv) GDP at market price

(r) GDP at factor cost

(vi) GNP at market price

(vii) NNP at market price.

fcar gw t :

erqR ftiqd q< UC qtq 3-e+n : 2s000 q'ts r.

Tq6rq = 569 S'trs r.

fqM t yrq {a etq{ srm - looo qtg F.

7

{E qnsqr 6'-r = 3oo 4G {.
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en*6r qifqq :

(, eren Enrr6 w qg nqk son

(r, qq;r eirrrd q V'6 qt-( l-ers

(n, sren Erlrt q{ s+-6 nq}+ Yer

(rv) erqR 6t{d rn s+-e t'c( rerE

(v) 11TtIl cfirrd q{ {FFd dq wf

(u0 qMR stFd qi s+-e {X1q YffE

(v,D qrqR 61{d Tt gg {q1q sflTC

Describe the money flows in an open economy. 8

W qei slfq++q i erq * E-*iq y-qrd 61 ffi 61frq1

Briefly explain the balanced budget multiplier. 7

vgFro e-+t lu6 t 3IN *1 qq-{A t ?

What is the investment multiplier ? Discuss the working of the multiplier process. 9

ftnql Iurfr ffi q-64 t Z g"rm q1 cimqr e1 qrql o1frqr

(6) If C = 50 crores + 0.6Y

I = 20 crores.

(r) Find the value of the multiplier.

(il) By how much consumption and income will increase as a result of increase in

investrnent by 30 crores ? 6

2. (a)

(b)

3. (a)

P.T.O.
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qR

Bcrfrq = 50 q"t-s + 0.6Y

fcA{r = zo 6-ts

(,) 1orm'6l qe ur+-er +lfuqr

(,,) qR f{ifl i 30 sG q1 gk A-fr t m sErFrFr sq,ilq ss elrq t ffi
Eredfi ?

What is the net export firnction ? Using aggregare expendihre and aggregate output approach,

explain the equilibrium income'determination in an open economy. 15

Ea freta qEFI FIT t Z te qq qq Ed's-sr< * Effiq 6r vdFr er+ q+ gd
qrf*rer ,1 qEfdfr eTrq ar ftqf{q a1fuq r

5. (a) What is money ? What are its main functions ?

gxr ffi q-rA t u $r+ g@ ol{ wr t ?

4

T

8

(b) Discuss the key determinants of demand for money in an economy. 7

ffi erf;q-q{qr fr gfi s1 cirr q1 f{qtftd fii qT'A qn-+l +r qdr qTqqr

6. How do commercial banks create credit ? What are the limits of credit creation power of

commercial banks ? l5

qrqrkd tq sro frqfq d-i 6{A t ? qqR-fi ffi q1 qTu FrqilT irfff si qffi

ffE?
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What is meant by monetary policy ? Discuss the various methods used by the Central Bank

to control the money supply in an economy. 15

Str*' frFd qr qd Hr t 7 t+-€1 stfqEtqr i *frq {-+ am gfl [fd ql fr?iiq q-d

, + frq sTq-{rs qri qr& sq-*-{oil +1 qrcm +lfqer

8. Write short notes on any r'ro : 7%,7%

(a) GDP deflator

(b) Quantity theory of Money

(c) Paradox of thrift.

ffi'A c{ {ilsrq ft'qfi,rdf fotuq :

(a) CoP erqsltrfl-Cs.

(r) Efrr 6I qfrqM f,sGid

(c) Eqd + ffiwqrsr
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